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Directions (1-5): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper 

sequence to form a meaningful paragraph; then answer the questions given below them. 

 

(A) The application of economic, environmental and consumer pressures have been on an increase in 

recent years. 

(B) As a result, our agro-food production and technology are amongst the most advanced in the 

world. 

(C) They are thus able to provide expertise and technology to satisfy the needs of agro-food 

production. 

(D) In turn, the support industries have developed to an equally advanced state. 

(E) They have also equipped themselves with the necessary expertise to satisfy the most exacting 

requirements of the overseas markets. 

(F) These have greatly influenced the development of the agriculture and food industries in our 

country. 

 

Q1. Which of the following should be the SECOND sentence after rearrangement? 

(a) F 

(b) E 

(c) D 

(d) C 

(e) B 

 

Q2. Which of the following should be the THIRD sentence after rearrangement? 

(a) F 

(b) E 

(c) D 

(d) C 

(e) B 

 

Q3. Which of the following should be the FOURTH sentence after rearrangement? 

(a) F 

(b) E 

(c) D 

(d) C 

(e) B 

 

Q4. Which of the following should be the FIFTH sentence after rearrangement? 

(a) F 

(b) E 

(c) D 

(d) C 

(e) B 
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Q5. Which of the following should be the SIXTH (LAST) sentence after rearrangement? 
(a) F 
(b) E 
(c) D 
(d) C 
(e) B 
 
Directions (6-10): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper 
sequence to form a meaningful paragraph; then answer the questions given below them. 
 
A. We look at the aggregate of all spending, whether on consumption, or by foreigners buying our 

exports, or on investments into new factories and projects. 
B. The GDP is measured in at least two different ways.  
C. The growth in GDP can be traced to the growth and vigour of each f these components. 
D. While the second is by looking at the spending side.  
E. The first is by looking at the production side 
F. In addition we also have government spending.  
 
 
Q6. Which of the following will be the LAST sentence? 
(a) A 
(b) B 
(c) C 
(d) E 
(e) D 
 
Q7. Which of the following will be the SECOND sentence? 
(a) C 
(b) B 
(c) F 
(d) D 
(e) E  
 
Q8. Which of the following will be the FIFTH sentence? 
(a) F 
(b) A 
(c) B 
(d) D 
(e) C 
 
Q9. Which of the following will be the FIRST sentence? 
(a) E 
(b) F 
(c) D 
(d) B 
(e) A  
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Q10. Which of the following will be the FOURTH sentence? 
(a) E 
(b) A 
(c) C 
(d) D 
(e) F  
 
Directions (11-15): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper 
sequence to form a meaningful paragraph; then answer the questions given below them. 
 
A. Indeed our exports are barely up 12% since January, whereas imports are up more than 30%. 
B. But thanks to the strong rupee, this trend is weakening.  
C. This directly hurts our export prospects.  
D. Since January the rupee is 7% stronger compared to the American dollar. 
E. It is stronger than its Asian peer currencies too, including China, the Philippines, Indonesia and 
Thailand.  
F. Since last October, our export growth has begun showing positive growth, after a long phase of 
negative growth for 18 months.  
 
Q11. Which of the following will be the LAST sentence? 
(a) D 
(b) A 
(c) B 
(d) C 
(e) F 
 
Q12. Which of the following will be the SECOND sentence? 
(a) E 
(b) D 
(c) A 
(d) B 
(e) F  
 
Q13. Which of the following will be the FIFTH sentence? 
(a) F 
(b) B 
(c) A 
(d) E 
(e) D  
 
Q14. Which of the following will be the FIRST sentence? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
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Q15. Which of the following will be the FOURTH sentence? 
(a) B 
(b) F 
(c) A 
(d) B 
(e) C 
 
Directions (16-20): Rearrange the following SEVEN sentence (A), (B), (C), (D), (E) (F)and (G) in the 
proper sequence to form a meaningful paragraph in accordance with the last statement already 
given; then answer the questions given below them. 
 
 A. All medical graduates will be on the same level playing field. Patients will benefit a lot. The 
deprivation of patients in rural areas will vanish. 
 B. No Central or State government has shown any interest in this obvious solution which will benefit 
the ordinary citizen and the vast majority of doctors from humble backgrounds. 
C. All this can be changed if the government abolishes private practice, institutes universal medical 
care and becomes the employer of all medical graduates, similar to the National Health Service of the 
U.K. 
D. The economically well-off can aspire to better jobs, training abroad (still much sought after in spite 
of all nationalist talk), and generally adopt metropolitan lifestyles. 
E. Unhealthy competition for patients in urban areas will disappear too. 
F. Inequality among qualified doctors is quite high. 
G. Doctors from poorer backgrounds will need to struggle a lot more. 
Last: The opposition to NEET is a smokescreen to hide the real truth, the abysmal level of medical 
care services and the continued exploitation of poor patients and the doctors who serve them. 
 
Q16. Which of the following will be the Fifth sentence? 
(a) A 
(b) B 
(c) C 
(d) E 
(e) F 
 
Q17. Which of the following will be the Seventh sentence? 
(a) A 
(b) B 
(c) C 
(d) E 
(e) D 
 
Q18. Which of the following will be the first sentence? 
(a) A 
(b) B 
(c) C 
(d) E 
(e) F 
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Q19. Which of the following will be the fourth sentence? 
(a) A 
(b) B 
(c) C 
(d) E 
(e) D 
 
Q20. Which of the following will be the Second sentence? 
(a) A 
(b) B 
(c) C 
(d) E 
(e) D 
 
Directions (21-25): Rearrange the following sentences (A), (B), (C), (D), (E) and (F) to make a 
meaningful paragraph and then answer the questions which follow.  
 
(A) A group of media persons have now taken the responsibility of educating people regarding the 
reality shows.  
(B) This is because these shows are said to be staged, fabricated and directed to improve TRPs. 
(C) The reality shows on TV have been attracting a huge viewership recently.  
(D) Owing to their efforts, the public has now realized the truth behind reality shows and such shows 
are fast losing their hold.  
(E) Though the name infers ‘real’, viewers are being exposed to a lot of ‘unreal’ content.  
(F) The public however is drawn to such contents of the reality shows unaware of this fabrication. 
 
Q21. Which of the following sentence should be the FOURTH after rearrangement? 
(a) C 
(b) B 
(c) E 
(d) F 
(e) D 
 
Q22. Which of the following sentence should be the SIXTH (LAST) after rearrangement? 
(a) B 
(b) D 
(c) C 
(d) E 
(e) A 
 
Q23. Which of the following sentence should be the FIRST after rearrangement? 
(a) A 
(b) C 
(c) D 
(d) E 
(e) F 
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Q24. Which of the following sentences should be the SECOND after rearrangement? 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 

 

Q25. Which of the following sentences should be the THIRD after rearrangement? 

(a) B 

(b) C 

(c) F 

(d) D 

(e) A 

 

Directions (26-30): Rearrange the following six sentence (A), (B), (C), (D), (E) and (F) in the proper 

sequence to form a meaningful paragraph, then answer the questions given below them. 

 

(A) To propose the idea of becoming perfected is not the same as saying that we human beings can 

be perfect. 

(B) It only means that we are capable of learning, changing and growing throughout the span of 

our earthly life. 

(C) Learning is a process that begins at birth and lasts till death. 

(D) This development through understanding new things, transforming and developing through 

may be considered as the perfection of soul. 

(E) Given that we are here to continually learn on the journey of life, it seems that the ultimate 

goal of learning is the perfection of our souls. 

(F) No that we should be perfect in everything. 

 

Q26. Which of the following should be the SECOND statement after rearrangement? 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 

 

Q27. Which of the following should be the FIRST statement after rearrangement? 

(a) A 

(b) B 

(c) C 

(d) D 

(e) E 
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Q28. Which of the following should be the FIFTH statement after rearrangement? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q29. Which of the following should be the SIXTH (LAST) statement after rearrangement? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q30. Which of the following should be the THIRD statement after rearrangement? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
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